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Questions

The number of bones in human skeleton is:

The hardes connective tissue of body is:

The examples of hings joints are:

Which statements is not true about cartilage?

Answers Choice

A. 206
B. 306
C. 106
D. 406

A. cartilage

B. ligaments

C. bone

D. tendons

A. shoulder joints

B. knee and elbow joints
C
D

. arm and shoulder joints
. neck joints

A. calcium and phosphate minerals
are absent in the matrix of cartilage
B. The cells of cartilage are called
chondrocytes

C. blood veessels enter into cartilage
D. cartilage is less strong than bone



